Principles of Algebra

Name/Date C]Ce/ﬁ‘(“‘/

WS 8B.1 - Standard Form and Point-Slope Form

#1-2 - Convert each equation to standard form.

1. y=3x+7 2. 3x=-7y—17
-3x "% Standadd Form ey 4ty
o LD eV Ax+By=C
-3« & vyt @ No fractions 3« + :"\( =-17
@ x and y olvae 0 left
3x =y = =F| | @ xfirst and positive

#3 - Write an equation in point-slope form that meets the given conditions.

3. Slope —2, through (-3, 4)
™ %XV

]

1 \/_q

-2 (x - (-3)

Point - Slope Form

11

y -4

~2(x+3)

N-Yq = m(x-x,)

#4-5 — Write each equation in slope-intercept form AND in standard form.

4. y—50=8(x—4)

Convert to slope - tercept by s»\v'.ng focy,

\ =50 =% -3)
+ 50 + 50

Y:%‘H%

($(o pe -V‘*U’({"f‘)

Convert 10 Stardacd

form by f “ow.'as

the 2 skps listed above:
\. = gx + |8

'%'X -cécx

LY
-Fx ¢y =13

QY

fx-Y =-1%

(standard )

5. y=10(—4x +3)

Convert 1o slope-atercept by sulviag focy,

V= 10(~dx+3)

Y = ~dox +30

(slope- m’rcrap*)

Convect 1o Standacd form by ‘Pouow.'ng
the % skps listed above:

N = -40x + 30
tYox +Y40x
dox + y = 30| (standard)




#6-8 — Write an equation in point-slope form for each situation, then convert to slope-intercept form, then
convert to standard form.

6. Through (—=3,3) and (—4,4)

@ Find slope: m= Ja-Y
’X, “K,

@ Slope-wtercept form:
N=Mmxtb (solve Br y)

OO V-4 = -L(ee )
T (R) = () y-4= -x-4
m = -| Yy =-%X
@ Poia*-tlope(ﬁrm : ) ® S'l’and Aré 'H)tg:
Y=Y =M(x-%, xtby =
V-4 =-l(x +4) N =-X
o [y=-3 = -\(x¢3) Xty =0
7. Slope 3, through (2, 6)
® Find Slope’. m=3 @ Standard form:
@ eo{n'}-S\opt form: A’K t BY = C
Y-V, =M(’x-'¥:3 N = 3x
v -6 =3(x-23) ~3x ¢y =0
@S\op(*iaiﬂapf form- 3% -y = O
Y=Wm¥b V‘@=ghﬁﬂ
(solve for y) N6 * 3x-6
Y =3«
8. Slope -;- , through (—4,-2)
O Find slege: m=3 @ Staadadd foom:
@ (oint - slope form: Ax +By=C
V=Y, = m (=) L b
V#R = E(x+4) Y2555
g Sy = X-b
@ S\ope'tn‘\’tl‘ap{’ form ¢
N=mx+b \/1’3=-‘§('x"q) “x+5y=-6
(srlve For\j) N+A = Jg'x*’%‘ X-5Y:0

ngx-




